Nonlinear Functional Analysis and Applications Vol. 27, No. 4 (2022), pp. 785-795 ISSN: 1229-1595(print), 2466-0973(online)

https://doi.org/10.22771/nfaa.2022.27.04.07 http://nfaa.kyungnam.ac.kr/journal-nfaa Copyright © 2022 Kyungnam University Press



AN EFFICIENT THIRD ORDER MANN-LIKE FIXED POINT SCHEME

Pravin Singh¹, Virath Singh² and Shivani Singh³

¹Department of Mathematics, School of Mathematics Statistics and Computer Sciences, University of KwaZulu-Natal, Durban 4000, South Africa e-mail: singhprook@gmail.com

²Department of Mathematics, School of Mathematics Statistics and Computer Sciences, University of KwaZulu-Natal, Durban 4000, South Africa e-mail: singhv@ukzn.ac.za

³Department of Decision Sciences, School of Economic and Financial Sciences, University of South Africa, Pretoria 0003, South Africa e-mail: singhs2@unisa.ac.za

Abstract. In this paper, we introduce a Mann-like three step iteration method and show that it can be used to approximate the fixed point of a weak contraction mapping. Furthermore, we prove that this scheme is equivalent to the Mann iterative scheme. A comparison is made with the other third order iterative methods. Results are presented in a table to support our conclusion.

1. INTRODUCTION

Let X be a Banach space, and C be a nonempty, closed and convex subset of X. Let T be a mapping from a set C to itself. An element x^* of C is called a fixed point of T if $Tx^* = x^*$. The iterative approximation of a fixed point is crucial in fixed point theory and has dominated this field to a large extent. Many iterative methods have been proposed and studied. Firstly Mann iteration [11] was proposed in 1953 and proved useful when Picard's iteration failed. In fact Mann iteration exploits the convexity of the underlying

⁰Received December 9, 2021. Revised April 7, 2022. Accepted July 26, 2022.

 $^{^02020}$ Mathematics Subject Classification: 47H09, 47H10, 37C25.

 $^{^0\}mathrm{Keywords}:$ Mann iteration, weak contraction, Picard method, fixed point.

⁰Corresponding author: P. Singh(singhprook@gmail.com).

space. Subsequently many other third order methods arose as detailed below, and were compared to each other for their speed of convergence. Most of these methods are in fact nested operations by the map T. We have found in our investigations that the third order methods are rather robust. Here we advocate a Mann-like iterative process that compares favourably with other third order schemes. To our surprise this method has not been proposed before. Our method is a third order polynomial in the operator T that uses a convex combination of terms.

We first summarize some existing third order methods. In what follows $\{\alpha_n\}_{n=1}^{\infty}$, $\{\beta_n\}_{n=1}^{\infty}$ and $\{\gamma_n\}_{n=1}^{\infty}$ are sequences in (0, 1) subject to some restrictions.

$$\begin{cases} x_{1} \in C, \\ z_{n} = (1 - \gamma_{n})x_{n} + \gamma_{n}Tx_{n}, \\ y_{n} = (1 - \beta_{n})x_{n} + \beta_{n}Tz_{n}, \\ x_{n+1} = (1 - \alpha_{n})x_{n} + \alpha_{n}Ty_{n} \end{cases}$$
(1.1)

equivalently

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T((1 - \beta_n)x_n + \beta_n T((1 - \gamma_n)x_n + \gamma_n Tx_n)), \quad (1.2)$$

proposed in 2000 by Noor [12], called the Noor scheme and denoted by NOO here.

$$\begin{cases} x_{1} \in C, \\ z_{n} = (1 - \gamma_{n})x_{n} + \gamma_{n}Tx_{n}, \\ y_{n} = (1 - \beta_{n})z_{n} + \beta_{n}Tz_{n}, \\ x_{n+1} = (1 - \alpha_{n})y_{n} + \alpha_{n}Ty_{n} \end{cases}$$
(1.3)

equivalently

$$x_{n+1} = (1 - \alpha_n)((1 - \beta_n)((1 - \gamma_n)x_n + \gamma_n Tx_n)$$

$$+ \beta_n T((1 - \gamma_n)x_n + \gamma_n Tx_n))$$

$$+ \alpha_n T((1 - \beta_n)((1 - \gamma_n)x_n + \gamma_n Tx_n) + \beta_n T((1 - \gamma_n)x_n + \gamma_n Tx_n)),$$
(1.4)

proposed by Phuengrattana and Suanti [14] in 2011 called the SP iteration.

$$\begin{cases} x_{1} \in C, \\ z_{n} = (1 - \gamma_{n})x_{n} + \gamma_{n}Tx_{n}, \\ y_{n} = (1 - \beta_{n})Tx_{n} + \beta_{n}Tz_{n}, \\ x_{n+1} = (1 - \alpha_{n})y_{n} + \alpha_{n}Ty_{n} \end{cases}$$
(1.5)

equivalently

$$x_{n+1} = (1 - \alpha_n)((1 - \beta_n)Tx_n + \beta_n T((1 - \gamma_n)x_n + \gamma_n Tx_n))$$
(1.6)
+ $\alpha_n T((1 - \beta_n)Tx_n + \beta_n T((1 - \gamma_n)x_n + \gamma_n Tx_n)),$

proposed by Chugh et al. [7] in 2012 called the CR iteration.

$$\begin{cases} x_{1} \in C, \\ z_{n} = (1 - \beta_{n})x_{n} + \beta_{n}Tx_{n}, \\ y_{n} = (1 - \alpha_{n})Tx_{n} + \alpha_{n}Tz_{n}, \\ x_{n+1} = Ty_{n} \end{cases}$$
(1.7)

equivalently

$$x_{n+1} = T((1 - \alpha_n)Tx_n + \alpha_n T((1 - \beta_n)x_n + \beta_n Tx_n)),$$
(1.8)

proposed by Gursoy and Karakaya [8] in 2014 called the Picard-S iterative process denoted by PS.

$$\begin{cases} x_{1} \in C, \\ z_{n} = Tx_{n}, \\ y_{n} = (1 - \alpha_{n})z_{n} + \alpha_{n}Tz_{n}, \\ x_{n+1} = Ty_{n} \end{cases}$$
(1.9)

equivalently

$$x_{n+1} = T((1 - \alpha_n)Tx_n + \alpha_n T^2 x_n)), \qquad (1.10)$$

proposed by Karakaya et al $\left[9\right]$ in 2017 called the Karakaya scheme denoted by KA.

$$\begin{cases} x_{1} \in C, \\ z_{n} = (1 - \beta_{n})x_{n} + \beta_{n}Tx_{n}, \\ y_{n} = (1 - \alpha_{n})x_{n} + \alpha_{n}Tz_{n}, \\ x_{n+1} = Ty_{n} \end{cases}$$
(1.11)

equivalently

$$x_{n+1} = T((1 - \alpha_n)x_n + \alpha_n T((1 - \beta_n)x_n + \beta_n Tx_n)),$$
(1.12)

proposed by Okeke [13] in 2019 called the Picard-Ishikawa iteration denoted by PIK.

We hereby propose the following method:

$$\begin{cases} x_1 \in C, \\ x_{n+1} = \alpha_n^{(0)} x_n + \alpha_n^{(1)} T x_n + \alpha_n^{(2)} T^2 x_n + \alpha_n^{(3)} T^3 x_n, \end{cases}$$
(1.13)

P. Singh, V. Singh and S. Singh

where $\{\alpha_n^{(i)}\}_{n=1}^{\infty} \subset (0,1), i = 0, 1, 2, 3$ satisfying $\sum_{i=0}^{3} \alpha_n^{(i)} = 1$ and denote it as the NEW iteration.

2. Some results

Lemma 2.1. ([15]) Let $\{a_n\}_{n=1}^{\infty}$ and $\{b_n\}_{n=1}^{\infty}$ be nonnegative sequences satisfying the condition

$$a_{n+1} \le (1 - \mu_n)a_n + b_n, \tag{2.1}$$

where $\mu_n \in (0,1)$ for all $n \ge n_0$, $\sum_{n=1}^{\infty} \mu_n = \infty$ and $\frac{b_n}{\mu_n} \to 0$ as $n \to \infty$. Then $\lim_{n\to\infty} a_n = 0$.

Definition 2.2. ([4]) The self-map $T: C \to C$ is called a weak-contraction if there exist $\delta \in (0, 1)$ and $L_1 \ge 0$ such that

$$||Tx - Ty|| \le \delta ||x - y|| + L_1 ||y - Tx||.$$

Many iterative methods have been proposed and studied for the weakcontractive mappings [3, 10].

Definition 2.3. ([6]) Let $\{a_n\}_{n=1}^{\infty}$ and $\{b_n\}_{n=1}^{\infty}$ be nonnegative real convergent sequences with limits a and b respectively. Then $\{a_n\}_{n=1}^{\infty}$ converges faster than $\{b_n\}_{n=1}^{\infty}$ if

$$\lim_{n \to \infty} \left| \frac{a_n - a}{b_n - b} \right| = 0.$$
(2.2)

Definition 2.4. ([5]) Let $\{u_n\}_{n=1}^{\infty}$ and $\{x_n\}_{n=1}^{\infty}$ be two fixed point iterative processes, both converging to fixed point x^* of a given operator T. Suppose that the error estimates

$$||u_n - x^*|| \le a_n,$$

 $||x_n - x^*|| \le b_n,$ (2.3)

for all $n \in N$ are available, where $\{a_n\}_{n=1}^{\infty}$ and $\{b_n\}_{n=1}^{\infty}$ are two sequences of positive numbers converging to 0. If $\{a_n\}_{n=1}^{\infty}$ converges faster than $\{b_n\}_{n=1}^{\infty}$, then $\{u_n\}_{n=1}^{\infty}$ converges faster than $\{x_n\}_{n=1}^{\infty}$ to x^* .

Remark 2.5. Let $T: x \to \frac{x}{5}$, $x \in [-2, 2]$, choose $x_1 = 1$ and consider the Picard iteration $x_{n+1} = Tx_n$. It is easily verified that

$$x_n = \left(\frac{1}{5}\right)^n \le \left(\frac{4}{5}\right)^n \tag{2.4}$$

$$=b_n.$$
 (2.5)

Also consider the Mann iteration

$$u_{n+1} = \alpha u_n + (1 - \alpha)Tu_n \tag{2.6}$$

with $u_n = 1$ and $\alpha = \frac{1}{2}$. Then $u_{n+1} = \frac{3}{5}u_n$ which implies that

$$u_n = \left(\frac{3}{5}\right)^n \le \left(\frac{3}{5}\right)^n = a_n. \tag{2.7}$$

Now by Definition 2.4 $\{a_n\}_{n=1}^{\infty}$ converges to zero faster than $\{b_n\}_{n=1}^{\infty}$, so we should expect $\{u_n\}_{n=1}^{\infty}$ converge to zero faster than $\{x_n\}_{n=1}^{\infty}$, but this is clearly false as per Definition 2.3. The shortcoming in Definition 2.4 is that it should refer to the least upper bounds. However for an arbitrary operator T which may be nonlinear, it may be very difficult or indeed impossible to find such a bound. Unfortunately Definition 2.4 has been used to claim that some methods are faster than others. Also it is almost impossible to deduce expressions for $\{a_n\}_{n=1}^{\infty}$ and $\{b_n\}_{n=1}^{\infty}$ and hence apply Definition 2.3. For this reason we avoid an analysis of the speed of convergence (see, [1, 2]) and claiming that one method is superior to the other.

Theorem 2.6. ([4]) Let X be a Banach space and $T : X \to X$ be a weakcontraction. Then T has a fixed point in X, that is,

$$F(T) := \{x \in X : Tx = x\} \neq \emptyset.$$

$$(2.8)$$

Theorem 2.7. ([4]) Let X be a Banach space and $T : X \to X$ be a weakcontraction for which there exist $\delta \in (0, 1)$ and some $L \ge 0$ such that

$$||Tx - Ty|| \le \delta ||x - y|| + L ||x - Tx||.$$
(2.9)

Then T has a unique fixed point.

Theorem 2.8. Let C be a nonempty closed convex subset of a Banach space X and $T: C \to C$ be a weak-contraction map satisfying the additional condition (2.9). Let $\{x_n\}_{n=1}^{\infty}$ be the iterative sequence (1.13) generated by a real sequences $\{\alpha_n^{(i)}\}_{n=1}^{\infty} \subset (0,1), i = 0,1,2,3$ satisfying $\sum_{n=1}^{\infty} \alpha_n^{(3)} = \infty$ and $\sum_{i=0}^{3} \alpha_n^{(i)} = 1$. Then $\{x_n\}_{n=1}^{\infty}$ converges to a unique fixed point x^* of T.

Proof. The existence of a fixed point x^* is guaranteed by Theorem 2.6. The uniqueness follows from Theorem 2.7 as is shown by using (2.9). Suppose that $x^* = Tx^*$ and $x^{**} = Tx^{**}$ are two fixed points. Then

$$\|x^{\star} - x^{\star\star}\| \le \delta \|x^{\star} - x^{\star\star}\| + L\|x^{\star} - Tx^{\star}\|.$$
(2.10)

If $x^* \neq x^{**}$, then $\delta \geq 1$ is a contradiction which ensures uniqueness. It follows from (2.9) that

$$\|T^{k}x_{n} - T^{k}x^{\star}\| = \|TT^{k-1}x_{n} - TT^{k-1}x^{\star}\|$$

$$\leq \delta \|T^{k-1}x_{n} - T^{k-1}x^{\star}\|$$

$$\leq \delta^{k}\|x_{n} - x^{\star}\|.$$
(2.11)

Hence

$$||x_{n+1} - x^{\star}|| = ||\alpha_{n}^{(0)}(x_{n} - x^{\star}) + \alpha_{n}^{(1)}(Tx_{n} - Tx^{\star})$$

$$+ \alpha_{n}^{(2)}(T^{2}x_{n} - T^{2}x^{\star}) + \alpha_{n}^{(3)}(T^{3}x_{n} - T^{3}x^{\star})||$$

$$\leq \alpha_{n}^{(0)}||x_{n} - x^{\star}|| + \alpha_{n}^{(1)}\delta||x_{n} - x^{\star}|| + \alpha_{n}^{(2)}\delta^{2}||x_{n} - x^{\star}||$$

$$+ \alpha_{n}^{(3)}\delta^{3}||x_{n} - x^{\star}||$$

$$= \left(\alpha_{n}^{(0)} + \alpha_{n}^{(1)}\delta + \alpha_{n}^{(2)}\delta^{2} + \alpha_{n}^{(3)}\delta^{3}\right)||x_{n} - x^{\star}||$$

$$\leq \prod_{i=1}^{n} \left(\alpha_{i}^{(0)} + \alpha_{i}^{(1)}\delta + \alpha_{i}^{(2)}\delta^{2} + \alpha_{i}^{(3)}\delta^{3}\right)||x_{1} - x^{\star}||$$

$$\leq \prod_{i=1}^{n} \left(\left(\alpha_{i}^{(0)} + \alpha_{i}^{(1)} + \alpha_{i}^{(2)}\right) + \alpha_{i}^{(3)}\delta^{3}\right)||x_{1} - x^{\star}||$$

$$= \prod_{i=1}^{n} \left[1 - \alpha_{i}^{(3)}(1 - \delta^{3})\right]||x_{1} - x^{\star}||.$$

Using $1 - x \le e^{-x}$ for $x \in (0, 1)$ in (2.12) we simplify

$$\|x_{n+1} - x^{\star}\| \leq \prod_{i=1}^{n} e^{-\alpha_{i}^{(3)}(1-\delta^{3})} \|x_{1} - x^{\star}\|$$

$$= e^{-(1-\delta^{3})\sum_{i=1}^{n} \alpha_{i}^{(3)}} \|x_{1} - x^{\star}\|.$$
(2.13)

Now since $\sum_{i=1}^{n} \alpha_i^{(3)} \to \infty$ as $n \to \infty$, it follows that $x_n \to x^*$.

Theorem 2.9. Let X be a Banach space, C be a nonempty, closed and convex subset of X and $T: C \to C$ be a weak-contraction map satisfying condition (2.9) with a fixed point x^* . Let $\{u_n\}_{n=1}^{\infty}$ be the Mann iteration process with $u_1 \in C$ and $\{x_n\}_{n=1}^{\infty}$ be defined by (1.13) with $x_1 \in C$ with real sequences $\{\alpha_n^{(i)}\}_{n=1}^{\infty} \subset (0,1), i = 0, 1, 2, 3$ satisfying $\sum_{n=1}^{\infty} \alpha_n^{(3)} = \infty$, $\sum_{i=0}^{3} \alpha_n^{(i)} = 1$ and $\sum_{n=1}^{\infty} \beta_n = \infty$. Then the following assertions are equivalent:

- (a) Mann iteration converges to x^* .
- (b) The new iteration method (1.13) converges to x^* .

Proof. We write Mann iteration as $u_{n+1} = (1 - \beta_n)u_n + \beta_n T u_n$ and first show that $(a) \implies (b)$.

$$\begin{aligned} \|u_{n+1} - x_{n+1}\| &= \|(1 - \beta_n)u_n + \beta T u_n - \alpha_n^{(0)} x_n \\ &- \alpha_n^{(1)} T x_n - \alpha_n^{(2)} T^2 x_n - \alpha_n^{(3)} T^3 x_n \| \\ &= \|(\alpha_n^{(0)} + \alpha_n^{(1)} + \alpha_n^{(2)} + \alpha_n^{(3)})u_n + \beta_n (T u_n - u_n) - \alpha_n^{(0)} x_n \\ &- \alpha_n^{(1)} T x_n - \alpha_n^{(2)} T^2 x_n - \alpha_n^{(3)} T^3 x_n \| \\ &\leq \alpha_n^{(0)} \|u_n - x_n\| + \alpha_n^{(1)} \|u_n - T x_n\| + \alpha_n^{(2)} \|u_n - T^2 x_n\| \\ &+ \alpha_n^{(3)} \|u_n - T^3 x_n\| + \beta_n \|T u_n - u_n\|. \end{aligned}$$

Now for $k\geq 1$ we have

$$||u_n - T^k x_n|| = ||u_n - Tu_n + Tu_n - T^k x_n||$$

$$\leq ||u_n - Tu_n|| + ||Tu_n - T(T^{k-1} x_n)||$$

$$\leq ||u_n - Tu_n|| + \delta ||u_n - T^{k-1} x_n|| + L ||u_n - Tu_n||$$

$$= (1 + L)||u_n - Tu_n|| + \delta ||u_n - T^{k-1} x_n||.$$
(2.15)

It follows from (2.15) that

$$||u_n - Tx_n|| \le (1+L)||u_n - Tx_n|| + \delta ||u_n - x_n||,$$
(2.16)

$$||u_n - T^2 x_n|| \le (1+L)(1+\delta)||u_n - Tu_n|| + \delta^2 ||u_n - x_n||,$$
(2.17)

$$\|u_n - Tx_n\| \le (1+L) \|u_n - Tx_n\| + \delta \|u_n - x_n\|,$$

$$|u_n - T^2x_n\| \le (1+L)(1+\delta) \|u_n - Tu_n\| + \delta^2 \|u_n - x_n\|,$$

$$|u_n - T^3x_n\| \le (1+L)(1+\delta+\delta^2) \|u_n - Tu_n\| + \delta^3 \|u_n - x_n\|.$$
(2.16)
$$(2.17)$$

Substitute (2.16)-(2.18) into (2.14) to obtain

$$\begin{aligned} \|u_{n+1} - x_{n+1}\| &\leq (\alpha_n^{(0)} + \alpha_n^{(1)}\delta + \alpha_n^{(2)}\delta^2 + \alpha_n^{(3)}\delta^3) \|u_n - x_n\| \\ &+ \left[\alpha_n^{(1)}(1+L) + \alpha_n^{(2)}(1+L)(1+\delta) + \alpha_n^{(3)}(1+L)(1+\delta + \delta^2) + \beta_n\right] \|u_n - Tu_n\| \\ &\leq (\alpha_n^{(0)} + \alpha_n^{(1)}\delta + \alpha_n^{(2)}\delta^2 + \alpha_n^{(3)}\delta^3) \|u_n - x_n\| \\ &+ \left[(1+L) + 2(1+L) + 3(1+L) + 1\right] \|u_n - Tu_n\| \\ &= \left[1 - \alpha_n^{(3)}(1-\delta^3)\right] \|u_n - x_n\| + (6L+7) \|u_n - Tu_n\|. \end{aligned}$$

As

$$||u_n - Tu_n|| \le ||u_n - x^*|| + ||Tx^* - Tu_n||$$

$$\le ||u_n - x^*|| + \delta ||u_n - x^*||$$

$$\le 2||u_n - x^*||.$$
(2.20)

Substituting (2.20) into (2.19) finally yields

$$\|u_{n+1} - x_{n+1}\| \le \left[1 - \alpha_n^{(3)}(1 - \delta^3)\right] \|u_n - x_n\| + (12L + 14)\|u_n - x^\star\|.$$
 (2.21)

Let $a_n = ||u_n - x_n||$, $b_n = (12L + 14)||u_n - x^*||$ and $\mu_n = \alpha_n^{(3)}(1 - \delta^3)$ and apply Lemma 2.1 to obtain $||u_n - x_n|| \to 0$. Hence

$$||x_n - x^*|| \le ||x_n - u_n|| + ||u_n - x^*||, \qquad (2.22)$$

proving that $x_n \to x^*$ since $u_n \to x^*$.

We now show that $(b) \implies (a)$.

$$||u_{n+1} - x^{\star}|| \leq ||u_{n+1} - x^{\star}|| + ||x_n - x^{\star}||$$

$$= ||(1 - \beta_n)u_n + \beta_n T u_n - (1 - \beta_n)x^{\star} - \beta_n T x^{\star}|| + ||x_n - x^{\star}||$$

$$\leq (1 - \beta_n)||u_n - x^{\star}|| + \beta_n ||Tu_n - T x^{\star}|| + ||x_n - x^{\star}||$$

$$\leq (1 - \beta_n)||u_n - x^{\star}|| + \beta_n \delta ||u_n - x^{\star}|| + ||x_n - x^{\star}||$$

$$= (1 - \beta_n (1 - \delta))||u_n - x^{\star}|| + ||x_n - x^{\star}||.$$
(2.23)

Let $a_n = ||u_n - x^*||$, $b_n = ||x_n - x^*||$ and $\mu_n = \beta_n(1 - \delta)$ and apply Lemma 1 to obtain $u_n \to x^*$. This completes the proof.

3. Examples

Example 3.1. Let $T : [0,6] \rightarrow [0,6]$ be defined by $Tx = \sqrt[3]{2x+4}$ with $x_0 = 5.0$. The exact solution is given by $x^* = 2$.

Example 3.2. Let $T : [1,2] \rightarrow [1,2]$ be defined by $Tx = \frac{3}{4}(1+\frac{1}{x})$ with $x_0 = 1.0$. The exact solution is given by $x^* = \sqrt{3}$.

Example 3.3. Let $T : [0,2] \to [0,2]$ be defined by $Tx = \frac{1}{1+x^2}$ with $x_0 = 0.5$. The exact solution is given by

$$x^{\star} = \sqrt[3]{\frac{1}{2}} + \sqrt{\frac{31}{108}} + \sqrt[3]{\frac{1}{2}} - \sqrt{\frac{31}{108}}$$

Example 3.4. Let $T: [0,2] \rightarrow [0,2]$ be defined by $Tx = \frac{x^2+9}{10}$ with $x_0 = 2.0$. The exact solution is given by $x^* = 1$.

Example 3.5. Let $T : [0, 2] \to [0, 2]$ be defined by $Tx = \frac{-x^2 + 10}{9}$ with $x_0 = 2.0$. The exact solution is given by $x^* = 1$.

Example 3.6. Let $T : [1.5, 2] \rightarrow [1.5, 2]$ be defined by $Tx = 2 \sin x$ with $x_0 = 2.0$. The exact solution is given by $x^* = 1.895494267033$ to twelve decimal digits.

Example 3.7. Let $T : [0, 0.5] \rightarrow [0, 0.5]$ be defined by $Tx = \frac{(1-x)^7}{10}$ with $x_0 = 0.5$. The exact solution is given by $x^* = 0.063280205813$ to twelve decimal digits.

Example 3.8. The bitcoin elliptic curve $y^2 = x^3 + 7$ called **Secp256k1** has a fixed point in [-1.75, -1.5]. Define $T : [-1.75, -1.5] \rightarrow [-1.75, -1.5]$ by $Tx = \sqrt[3]{x^2 - 7}$ with $x_0 = -1.6$. The exact solution is given by

$$x^{\star} = \sqrt[3]{-\frac{187}{54} + \sqrt{\frac{1295}{108}}} - \sqrt[3]{\frac{187}{54} + \sqrt{\frac{1295}{108}}} + \frac{1}{3}$$

The number of iterations to converge to within 10^{-12} of x^* is summarized in the tables 1-4, here X denotes non convergence after a maximum of 500 iterations. We have chosen constant sequences $\{\alpha_n^{(0)}\}_{n=1}^{\infty} = \{\alpha_n\}_{n=1}^{\infty}$, $\{\alpha_n^{(1)}\}_{n=1}^{\infty} = \{\beta_n\}_{n=1}^{\infty}$ and $\{\alpha_n^{(2)}\}_{n=1}^{\infty} = \{\gamma_n\}_{n=1}^{\infty}$ as parameters.

4. TABLES	
-----------	--

Ex	NEW	\mathbf{PS}	KK	NOO	\mathbf{SP}	PIK	\mathbf{CR}
1	12	9	9	Х	226	17	17
2	18	21	20	Х	358	39	39
3	17	30	28	315	103	50	49
4	12	10	10	Х	228	19	19
5	9	11	11	443	147	19	19
6	16	30	27	308	100	49	49
7	10	19	18	365	120	33	33
8	8	15	14	339	112	27	26

TABLE 1. $\alpha_n^{(0)} = 0.05$	$\alpha_n^{(1)} = 0.05,$	$\alpha_n^{(2)} = 0.05$
----------------------------------	--------------------------	-------------------------

Ex	NEW	PS	KK	NOO	\mathbf{SP}	PIK	\mathbf{CR}
1	15	9	9	326	111	17	17
2	22	21	20	Х	177	37	37
3	13	30	25	157	50	43	41
4	15	10	10	327	113	18	18
5	12	11	10	218	72	19	18
6	13	29	25	153	49	43	41
7	6	19	17	180	58	30	29
8	8	15	14	167	54	25	24

TABLE 2. $\alpha_n^{(0)} = 0.1, \ \alpha_n^{(1)} = 0.1, \ \alpha_n^{(2)} = 0.1$

$\mathbf{E}\mathbf{x}$	NEW	\mathbf{PS}	KK	NOO	\mathbf{SP}	PIK	\mathbf{CR}
1	25	9	9	119	42	16	15
1	37	20	19	178	69	33	33
3	14	27	20	61	18	31	25
4	25	10	10	119	43	17	16
5	19	11	10	82	27	17	16
6	14	27	19	59	17	31	25
7	16	18	15	69	21	24	21
8	15	14	12	64	20	20	19

TABLE 3.
$$\alpha_n^{(0)} = 0.25, \ \alpha_n^{(1)} = 0.25, \ \alpha_n^{(2)} = 0.25$$

Ex	NEW	\mathbf{PS}	KK	NOO	\mathbf{SP}	PIK	\mathbf{CR}
1	16	9	9	320	53	17	16
2	25	21	20	474	86	37	36
3	7	29	25	165	22	44	37
4	16	10	10	320	54	18	18
5	12	11	10	223	33	19	18
6	7	29	25	161	22	44	36
7	10	18	17	188	27	30	27
8	9	15	14	174	25	25	23

TABLE 4.
$$\alpha_n^{(0)} = 0.1, \ \alpha_n^{(1)} = 0.2, \ \alpha_n^{(2)} = 0.3$$

5. Conclusion

An examination of the number of iterations required for convergence shows that the NEW method is surprisingly quick. One can of course choose non constant sequences and other parameters to ensure that other methods are just as fast. However such an approach would be problem dependent. Our aim has been to illustrate that a simple non nested polynomial third order method is quite robust and fast compared to existing third order methods. We believe that we have achieved this for constant parameters and it is worthwhile investigating for non constant parameters.

Acknowledgments: The author acknowledges the grants that supported the research.

References

- M.O. Aibinu and J.K. Kim, On the rate of convergence of viscosity implicit iterative algorithms, Nonlinear Funct. Anal. Appl., 25(1) (2020), 135–152.
- [2] F. Ali, J. Ali and R. Rodríguez-López, Approximation of fixed points and the solution of a nonlinear integral equation, Nonlinear Funct. Anal. Appl., 26(5) (2021), 869–885.
- [3] A.H. Ansari, J. Nantadilok and M.S. Khan, Best proximity points of generalized cyclic weak (F, ψ, φ)-contraction in ordered metric spaces, Nonlinear Funct. Anal. Appl., 25(1) (2020), 55–67.
- [4] V. Berinde, On the approximation of fixed points of weak contractive mappings, Carpathian J. Math., 19 (2003), 7–22.
- [5] V. Berinde, Picard iteration converges faster than Mann iteration for a class of quasicontractive operators, Fixed Point Theory Appl., 2 (2004), 97–105.
- [6] V. Berinde, Iterative approximation of fixed points, Springer, Berlin, 2007.
- [7] R. Chugh, V. Kumar and S. Kumar, Strong convergence of a new three step iterative scheme in Banach spaces, Amer. J. Comput. Math., 2 (2012), 345–357.
- [8] F. Gürsoy and V. Karakaya, A Picard-S hybrid type iteration method for solving a differential equation with retarded argument, arXiv:1403.2546 [Math.FA], (2014). https://doi.org/10.48550/arXiv.1403.2546.
- [9] V. Karakaya, Y. Atalan, K. Dogan and N.E.H. Bouzara, Some fixed point results for a new three steps iteration process in Banach spaces, Fixed Point Theory, 18(2) (2017), 625–640.
- [10] A. Malkawi, A. Talafhah and W. Shatanawi, Coincidence and fixed point results for generalized weak contraction mapping on b-metric spaces, Nonlinear Funct. Anal. Appl., 26(1) (2021), 177–195.
- [11] W.R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc., 4(3) (1953), 506–510.
- [12] M.A. Noor, New approximation schemes for general variational inequalities, J. Math. Anal. Appl., 251 (2000), 217–229.
- [13] G.A. Okeke, Convergence analysis of the PicardIshikawa hybrid iterative process with applications, Afr. Mat., **30** (2019), 817–835. https://doi.org/10.1007/s13370-019-00686z.
- [14] W. Pheungrattana and S. Suantai, On the rate of convergence of Mann, Ishikawa, Noor and SP iterations for continuous on an arbitrary interval, J. Comput. Appl. Math., 235 (2011), 3006–3914.
- [15] X. Weng, Fixed point iteration for local strictly pseudocontractive mapping, Proc. Amer. Math. Soc., 113 (1991), 727–731.